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English
Lesson 1
The Train Saviours
I. Short Answer Questions.
1. Who were the children?
2. Where had the children come?
3. What had their mother allowed them to take?
4. What did they hear?
5. What did they see?
II. Long answer question.
1. Why do you think the story is called ‘The Train Saviours’
I11. Reference to context
1. ‘It’s like the woods in Macbeth’.
a. Who said this?
b. Whatis ‘Macbeth’?
c. What was ‘like the woods in Macbeth’?
2. ““I wish we hadn’t put on our...” she stopped short, “.....or flannel
petticoats.”’
a. Whois ‘she’?
b. Why did she wish that they hadn’t put on their flannel petticoats?
c. What did they do with the petticoats?
II1. Antonyms.
1. Slow X Fast
2. Loud X Quiet
Long X short
IV. Synonym
1. Firm: Hard

2. Loose: Free
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Lesson 2
The Elephant Orphanage.
Short Answer Questions.
How long was the author going to stay in Kenya?
What was planned for the author on the first day of the tour?
What was the name of the person who founded the orphanage and why?
What is the first thing that rescuers do when they find an orphan?

How are the elephants kept warm in a heard?

. Long Answer Question.

Why do you think the orphans were fed baby formula? Was it the best

food for them?

. References to context.

“good Morning “

a) Who said this?

b) What was the answer he received?

¢) Why had he come to the hotel?

“They pick up young elephants as young as two days old “
a) Who are they?

b) Who are the young elephants?

¢) Why are they picked up?

. Antonyms

Proximity X Remoteness
Deprived X Fortunate
Abandoned X Claim

Synonyms
Conflict : Dispute
Dusting : Wipe

4.
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Poem- Solitude.
Short Answer Questions.
How do people respond to unhappy people?
What does Nature do when one sings or sighs
What do people want from us?
What happens when you fast?
What are the two things that help you to live?
Long Answer Question.

Write an appreciation on the poem.

II1. Reference to context.

L.

Iv.
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“The echoes bound to a joyful sound,

But shrink from voicing care”

a) What do the echoes repeat loudly?

b) What do the echoes repeat in a low voice?
c) Explain why we hear only joyful sounds in an echo?
“There are none to decline your nectared wine
But alone you must drink life’s gall”

a) Who are ‘none’?

b) What is ‘life’s gall’?

c¢) Why must one drink the ‘gall’ alone?
Antonyms

Weep X Rejoice

Answer X question

Borrow X Lend

Synonyms

Trouble : Difficulty

Pleasure : Happiness



N g »

Lesson 4.
Just Before Recess.

Short Answer Questions.
What did parker usually feed the sun?
What was Mr Earl doing in class?
How did the sun eat the pebble?
When had parker discovered the sun in his desk?
What did Mr Earl accuse Parker of?

. Long answer question.

Give two reasons for parker shrugging to reply to Mr Earl’s question.

. Reference to context.

“Your reading group is waiting for you”
a) Who said this?

b) What kind of teacher was Mr Earl?
¢) Why was the reading group waiting?
“I don’t have it, Sir.”

a) Who is the speaker?

b) Whatis ‘it’?

¢) Why does the speaker not have it?

. Antonyms

Quickly X Slowly
Glare X smile
Tugged X Dragged
Synonyms

Swirling : Whirling
Clenched : Clamped
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Poem. — The Sands of Dee
Short Answer Questions.
Who is Mary?
What was she told to?
Who was with her?
What happened to Mary?
What came up the sand?

. Long Answer Question

Write the summary of the poem.

II1. Reference to context.

L.
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“...go and call the cattle home”

a) Who must go and call?

b) Where must the person go?

c) What time of the day it is?

‘The rolling mist came down....”

a) What did the mist do?

b) What else happened due to the fog?

c) Make a sentence with ‘rolling mist’?

Antonyms

Rolling X Unrolling
Cruel X Compassionate
Drowned X Floated

Synonyms
Crawl: Creep
Dank : Damp
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Science
Lesson-1
NUTRITION IN PLANTS
One mark questions.
What are nutrients?
Name the components of food.
Name the process of which plants prepare thier own food.
What are the raw materials for photosynthesis?
What will happens if there is no green plants on the earth?
What are the end products of photosynthesis?
Name the substances from which plants get nitrogen.

Which are host?

I = SR S

What are insectivorous plants?

_
e

Why insectivorous plants eat insects?

)
-l
.

2 marks questions

—
—

Explain various modes of nutrition.

_
N

What are the functions of food?

—_
W

“All animals depend upon the plants for their food” Justify the

statement.

III. 3 marks questions

14. Write the differences between autotrophic and heterotrophic mode of
nutrition.

15. Write the importance of Rhizobium bacteria for the farmers.

16. Inthe absence of photosynthesis, life is impossible on the earth. Explain.

-16-



IV.
17.
18.
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II.

10.

1.

11.

5 marks questions.
Explain the mechanism of eating insects by pitcher plant.
What is photosynthesis? Explain the process of photosynthesis in the
plants.
Lesson-2
NUTRITION IN ANIMALS
One mark questions.
Name the parts of the digestive system where bile juice is produced.
What is assimilation?
What is peristalsis?
What is rumination?
Name the parts of the digestive system where digested food gets
absorbed.
2 marks questions
What is ORS? When it is given?
Name the organs involved in the digestion of food in humans.
Where is the bile produced? Which component of the food does it help
to digest?
Ruminants such as cows and buffaloes swallow their food hurriedly
and then it restfully and chew their food. Can you reason why?
Explain the various types of teeth in humanbeings.
5 marks questions.
a) Draw a labelled diagram of the digestive system.
b) Identify the following parts in the human body.
1) The largest gland in our body.

i1) The organ where protein digestion starts.

-17-
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13.
14.
15.
IV.
16.
17.

18.

19.

20.

ii1) The organ that releases digestive juice into the small intestine.
iv) The organ where bile juice gets stored.

Write the functions of the following:

a) tongue b) stomach c) small intestine d) large intestine

List the five steps food undergoes during digestion.

Draw a labelled diagram of a tongue showing the taste zones.

How does Amoeba get food? Give a diagram to support your answer.
3 marks questions.

How does food move in opposite direction during vomiting?

Why does a doctor put a glucose drip to a patient who has just been

operated?
Match the following
a) Housefly i. biting and chewing

b) Cockroach ii. sucking

¢) Mosquito iii. sponging

d) Infants iv. sucking

True or false

a) Digestion of starch starts in the stomach.

b) The tongue helps in mixing food with saliva.

¢) The large intestine is longer and wider than the small intestine of
human alimentary canal.

Distinguish between milk teeth and permanent teeth Ingestion and

Egestion.

-18-
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Lesson-4

HEAT
In a mercury thermometer, the level of mercury rises when its bulb
comes in contact with a hot objects. What is the reason for this rise in
the level of mercury?
At what temperature will the reading on the Fahrenheit scale be double
of the reading on the celsius scale?
Why is it advised not to hold the thermometer by its bulb while reading
it?
Give two examples each of conductors and insulators of heat.
Why do gases expand more than liquids?
What precautions should you take while reading a clinical thermometer?
What precautions should you take while using a laboratory
thermometer?
Distinguish between Land breeze and Sea breeze.
Distinguish between convection and conduction.
Which will cool faster - water kept in a black pot or kept in a silver
pot?
Match the following.

Land breeze blows during 1) summer
Sea breeze blows during ii) winter
Dark coloured clothes arepreferred during iii) day
Light-coloured clothes are preferred during iv) night

Answer the following.
An instrument used to measure temperature.

Mode of transfer of heat from one particle to another in solids.

-19-
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14.
15.
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11.
12.
13.

The degree of hotness of body.
Mode of transfer of heat through liquids and gases by the actual
movement of heated particles with the medium.
Mode of transfer of heat from a source to a cold object without there
being a direct contact betwen them.
Name any two types of thermometers.
Give three reasons why mercury is used as an indicator in a thermometer.
a) What is the process by which heat of sun is able to reach us?
b) Draw a labelled diagram of a clinical thermometer.
Lesson-5

ACID BASES AND SALT
What is the nature of acids?
Give two examples for acidic foods.
Name the latin word which means “sour”
What is the nature of baking soda?
What is the taste of basic substances?
Name the substance which is used to test acid and base.
Name two natural indicators.
What is the other name of China rose?
Name two synthetic indicators.
The solutions which doesn’t change colour with either red or blue litmus
paper.
Name the substance from which Litmus is obtained?
The acid contained in the ant’s sting?
What is the colour change shown by red litmus paper when dipped in

basic solutions

20-
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15.
16.

17.
18.
19.
20.

21.
22.
23.
24,
25.
26.
27.
28.
29.
30.
31.

What happens when red litmus is dipped in acidic solution?

What is the base present in the Milk of Magnesia?

What happens if china rose is used as an indicator to test a basic

solution?
What is the nature of distilled water?
Name the products formed as a result of neutralisation.

Write the equation to show neutralisation.

If the solution is basic ,what is the colour change given by

Phenolphthalein?

Which acid is present in our stomach?

What is acid rain?

Name the acid present in the cell of our body.

Why are acid and bases should be handled with care?
Name the base present in the calamine solution.
Name the base in the soap.

What make the soil acidic?

Name the two types of Litmus paper.

Name any two base used in our daily life.

What is the nature of lime water?

What is the chemical name of the following:

1) Quick lime ii) Slaked lime 1iii) Calamine solution

iv)Baking soda  v) Lime water

21-
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11.
12.
13.
14.
15.
16.

17.

18.

19.
20.

History
Chapter 1
Medieval world
The period that lies between ancient and the modern periods.
In which century medieval period started in India?
Another name of India.
Name of the river nearby in which Indians live.
The founder of the Mughal Empire.
Who brought a new culture to India in 8th century?
Which dynasty brought about political stability in India?
The two Spiritual movements spread the message of devotion to God
and kindness towards all human beings in the medieval period.
The title of the book on coins during the rule of Alauddin Khalji.
Written records engraved on rocks and clay tablets.
Written record of the rule of the kings and life at the court.
Story of a person's life written by somebody.
The author of Rajatharangini.
The work of Ziauddin Barani.
The author of Tarikhi Ferishta.
The chronicle about Delhi Sultans (ruler of Muslim countries) in Delhi
from Qutbuddin Aibak to Firoz Shah Tughluq. [1206-1388]
The chronicle from Turks [Slave, Khalji, Tughluq, Sayyid, Lodi(1206)
till seventeenth century (upto Jahangir 1605)
The author of Khazainul Futuh
The author of Tuglugnama.

The chronicle about rule of Khaljis.
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21.
22.
23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

The chronicle about reign of Tughlugs.

Which century marked the beginning of the medieval period why?
What do you understand by the ‘Indian’ culture that emerged in medi-
eval India?

Why are coins and inscriptions important for the study of medieval
India?

Who wrote Prithviraj Raso? What does it tell us about?

What did Hindustan stand for in medieval times?

What were the major historical developments during the medieval
period?

How do the archaeological sources help us in our study of medieval
India?

List some important chronicles availabe for the study of the medieval
period?

How are travelogues an important literary source?

How did the word ‘India’ originate?

List three autobiographies and their authors during medieval period.
Our information about the medieval period is much more than the
ancient period? Why?

Why do we get a lot of written records for the medieval period?
Write the names of three biographies and its authors.

Write any five European travellers who came to India in medieval
period?

Which are four archaeological sources to know about medieval period

of India?

23-
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12.
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14.

15.

16.
17.
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20.
21.

Chapter 2

Regional Kingdoms - 1
‘Rajput’ means
Which Rajput clan built Delhi?
The most powerful Chauhan ruler in early medieval period.
Name of the first battle between Prithviraj Chauhan and Muhammed
Ghoriin 1191,
In which battle Muhammad Ghori defeated Prithviraj Chauhan in 11927
The author of Prithvirajraso.
The most powerful Solanki ruler.
The capital of Paramaras.
The most powerful Rajput ruler and Gahadavalas king.
In which battle Muhammad Ghori defeated Jaichandra in 1194.
The capital of Chandella clan.
The most powerful Chandella ruler.
The first invader raid india in 1000 CE. (Common Era)
How many times Mahmud of Ghazni invaded India from CE 1000 -
CE 1026.
From which temple Mahmud of Ghazni has taken away the precious
stones fixed on the temple walls in CE 10267
Where in Tarain located?
The most important city in north India in early medieval period?
The most powerful Gurjara-Pratihara dynasty ruler.
The capital of Rashtrakutas.
Who founded Yadavas in Devagiri?

The greatest ruler of western Chalukyas
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22.
23.
24,
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.

39.

40.
41.

42.

43.

The most powerful Hoyasala ruler.

The capital of Pallava kingdom.

The capital of Pandya kingdom.

The capital of Chola kingdom.

In which battle Parantaka was defeated by Krishna III
Who is known as Gangai Konda Chola

The finest example of Chola temple architecture.
The tamil word ‘Nataraja’ means

Name of a Chola province.

General village assembly of Chola kingdom.
Male village gatherings of Chola kingdom.

The founder of Lingayat?

Who preached Advaita philosphy.

The word ‘Bhakti’ means

How did the Rajputs explain their origin?

How did Muhammad Ghori benefit from Mahmud of Ghazni’s death?
Which ruling dynasties engaged in a tripartile (involving three parties)

struggle to control Kanauj? Give reasons.

How do you know that the Rashtrakutas were patrons of art, architecture

and literature?

What do you know about Chola sculpture?

How was the clash between Prithviraj Chauhan and Muhammad Ghori

in 1192 different from the clash in 1191?

Describe the military achievements of Raja Raja Chola and Rajendra

Chola.

What do you know about Chola administration?

25



44.

45.

46.

47.

48.

49.

—_—

D AT B o

What were the two developments in the Chola period that led to an
increase in the area under cultivation?

Write a short note on the regional kingdoms of the Deccan.
“Muhammud Ghori’s invasion changed the course of Indian history”.
Do you agree with the statement? Give reasons to support your argu-
ment.

A Chola period inscription, carved out of stone, declares that “destroy-
ers of the tank will go to the deepest of hell and one who maintain it
well will be rewarded with great riches and luxuries in his next birth”.
What possible conclusion can you draw from the above statement?
Which are the five important regional kingdoms in north India during
medieval period?

Which are the two important developments in agriculture in Chola

kingdom?

Social and Political Life

Chapter 1

Democracy
Which country made the first code of law in BCE 1760?
First republican state in India.
First democracy in the western world.
Who first used the word ‘democracy’?
The father of Athenian democracy.
Who do not have voting rights in Athens (Ancient Greece)
When was Rome founded?
An assembly of leading citizens in Rome?

The founder of Pala Dynasty.
26-
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I1.
12.
13.
14.
15.
16.

17.

18.

19.

20.
21.
22.
23.
24,

25.
26.
27.
28.

29.

The first elected king in Pala dynasty Bengal.

First liberal democracy in 1788.

The year of French Revolution.

When did Indian constitution came into effect?

The only country where direct democracy is in practice today.

An example of direct democracy in India.

The system where the government is elect, run and form directly by
people.

The system where the government is elected, run and form by the rep-
resentatives on hehalf of the people.

The democractic system where the head of the country is elected by the
people.

The democratic system where both head of the state and head of the
government is elected by the people.

The greek origin of the word ‘democracy’.

The meaning of greek word ‘demos’

The meaning of greek word ‘kratos’

The first nation to grant voting right to all citizens in 18937

Who told that democracy is a “government of the people, by the people
and for the people.”

Three elements/tools/features of democracy.

Three values of democracy.

Two principles of democracy.

What do you understand by absolute monarchy? Name one country
which follows this form of government.

What is direct democracy? Is it practical to follow it in India?
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30.
31.
32.
33.
34.
35.
36.
37.
38.
39.

40.

41.

42.
43.

Why is India called a democratic republic?

What are the two principles on which democracy is based?

What is the village panchayat?

How do citizens in a democratic country participate in the government?
Explain why democracy is much more than a form of government.
Write a note on elections.

What do you understand by rule of law?

What is a democratic democracy?

What is economic democracy?

Our constitution guarantees certain basic nights to all its people. What
is the purpose behind this?

What is more important in a democracy - all citizens should have equal
voting rights or all citizens should have food, clothing and shelter?
Write the eight Movements for democracy in different parts of the world.
What are the elements (features), values and principles of democracy?
Write nine Trail (series of marks left by somebody or something showing

where they have been) of democracy (from Sumeria to India).

Geography
Lesson 1 - OUR ENVIRONMENT
Fill ups.
Geographical elements are divided into ......... and ........

.......... in a biosphere are independent on one another.
......... is the greatest danger to the environment.
Biosphere provides ............ and ............

Natural environment includes ........ and ..........



II. Give another name.
6. Biosphere 7. Lithosphere 8. Non living components
9. Living components 10. Envelope of air
III. Explain terms.
11. Environment 12. Ecosystem 13. Biosphere
14. Urbanization 15. Pollution
IV. Short answers.
16. Why do we call the earth our home?
17. What are the major domains of the earth?
18. Why is the atmosphere held close to the earth?
19. What is human made environment.
20. What is the imporatance of lithosphere?
21. Write the importance of atmosphere.
22. What are the problems faced by the world today?
23. Why human beings are an important part of the environment.
24. What can be done to overcome environmental problems?

Lesson 2

INSIDE OUR EARTH

I. Fill in the blanks
1. Detailed study of interior of the earth is done by ........
2.  Temperature at the centre of the earth is .........
3. Solid outermost layer is called .........
4

Continental crust is made up of ...... and ...........

S50 e is found in the mantle.
6. e are made up of minerals.
7. Igneous rocks are ......... and ...........
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10.

1L
11.

13.
15.
I11.
17.
20.
IV.
13.
14.
15.
16.
17.

18.
19.
20.
21.

......... rocks are formed due to deposition of broken rock fragments in
layers.

Change of one rock into another is .......

Rocks formed by excessive heat and pressure.

Name the following

Solid outermost layer 12. lower crust
Another name for core 14. First rock to be formed.
Rocks which cool inside earth 16. changed rocks
Explain terms

Rock cycle 18. rocks 19. core
fossils 21.volcanic rocks

Short answers

What are uses of rocks and minerals?

Distinguish between rock and minerals.

Write the features of sedimentary and metamorphic.
Write a short note on core.

Distinguish between oceanic and continental crust.
Long answers

Explain rock cycle.

Write a note on igneous rocks.

Write the features of mantle and core.

Explain the structure of the earth.
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S A i

10.
I1.
12.
13.
14.
15.
16.
17.
18.

II.

Mathematics
Lesson - 1
INTEGERS

Fill in the blanks.

10+ (-5) = oo,
(-6) = (-3) = oo
(-50) = e = 1
(-17) X oo, =17
(-8) F o = (-10)
........ -(-6)=0

......... +.12=1
59+ . =-59
........ +1=225
13)+ oo =27

Do as directed.
Find (-1) % (:2) % (:3) X (-4)  (-5)
Find the value of p, if p X (-9) = 135
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The sum of two integers is (-657) if one of the integer is 352, find the
other integer.
The sum of two integers is 1258, one of the integer is (-934). Find the
other number.

What integer should be multiplied by (-12) to get 96?

Find the following

a) (-358)+ 171 -458 b) 48 -(73) +(-29)

c) (45+(3)+((-50) = (-10))  d) (10 % 3)-((-20) <2)
e) 27+ (-13)-(-83)-34 ) (-59) - 87 + 74 + (-48)
g) (-108)+93-59+ 14 h) (214) - 136 - (-79)
Use appropriate property and solve

a) -5%x47x-20 b) 104 x -83

c) (-103) x 57 d) 249 x -99

e) 76 x103-76 %3 ) (-37) x 97+ 37 x (-3)

g) 73 x99+73 h) 64 x 101 - 64

i) -117 <101+ 117 1) 49 x-99-49

In a test (+5) marks are given for every correct answer and (-2) marks

are given for every incorrect answer.

i) Neha answered all questions and scored 30 marks though she got 10
correct answers. How many incorrect answers had she attempted?

i1) Ajay also answered all questions and scored (-12) marks though he
got 4 correct answers. How many incorrect answers had he at-
tempted?

iii) How many questions are there in all?

In a class test (+4) marks are given for every correct answer and (-2)

marks are given for every incorrect answer. These are 25 questions in
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10.

the question paper.

1) Arun attempted all questions and got 18 questions correct. What is
his total score?

ii) Pooja attempted 20 questions and got 6 answers incorrect. What
will be here total score if zero marks are given for non-attempting
questions.

In a test (+3) marks are given for every correct answer and (-1) mark for

every incorrect answers. Anurag attempted all questions and he got 6

answers incorrect. If his total score is 51, how many answers does he

get correct? How many questions are there in total?

Lesson - 2
FRACTIONS AND DECIMALS

Classify the following as proper, improper, mixed fraction and whole
number.

73 2 16 23 15 21 7 14 3 17 32 5 13 39 8 11

4 6 8 10

9713 711 715

L . . 3
Which is not an equivalent fraction of e
6 9 1215

10 15 720 " 24

I (2_ 3 4 1_)
l_g: ......... 5°5°5"°%
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10.

11.

12.

. . . .3 . .
The side of an equilateral triangle is 7 cm. Find the perimeter.

. .5 .
The side of a square is 3 om, find perimeter.

L 3 5 4 6
Which is greater  (a) 7 or o (b) 9Ty
LA A B 3 35
(©) 5 or 3 ()15 or (e) 1 o 7
Find
3 7 1
(a) 2% 2 (b) x4 (c) 5 of8
1 1 1 1 3
(d)Isz_ (e) 7S (f)5—0f25
1 10 1 1 ) 5
(9 5 of = (h) 5 of 55 (i)5+ 5
. 7 1 5 1
G) 14+ = k) 3+7 H F+4
1 1 1 7 5
(m) 3310 233y ©) 1015
4 10 12 1 1 3 3
302 1 4 3 4
®grgriy  OF-% W7
5 2
W33
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13.

14.

15.

16.

17.

18.

19.

20.

21.

a) Scm=........ m b) 150 g=........ kg

c) Spaise=........... Rs. d)7mm-=..... m

e) 270 cm=........ km 375 ml=...... 1

g S0g=..... kg h)4/25ml=......... 1

1) 65m=..... km j) 5 Rs. 75 paise = .......... Rs.
Write the place value of underlined digit

a) 537.089 b) 3.824 (c) 239.365

Find

a) 47.21+8.592 +11.096 b) 18.089 + 4.7 + 347.892
c) 173 x4 d 1.2x1.2

e) 5.7x1.25 £)3.7x 10

g) 0.79 x 100 h) 1.2 x 100

i) 0.6 x 1000 j)0.6+3

k) 2.5+ 100 1)0.32+10

m) 5.8 + 1000 n) 1.44 + 12

0) 2.7+0.3 p) 1.75+0.25

q 2.8+7 r) 3.81+.019

s) 0.625+12.5

2
The reciprocal of 1 3 iS e

The least form of 1 %

.. 15 3
Divide B by 2

How long is 88.6 km than 48 km?

. 2 1
How many pieces of length 2 3 mcan be cut from 6 sm of cloth?

A car covers a distance of 89.1 km in 2.2 hours. What is the distance

covered in 1 hour?



22.

23.

24.

25.

Arrange the following fractions in descending order.

2 3 1 5 6 7 4 3
a) 3747276 b)7_58_55_s4_
1

3
Mary bought 5 m of lace. She used 12 m of lace for her new dress.

How much lace is left with her?

2 . 4 .
Ramesh solved - part of an exercise while Seema solved 5 of it.

Who solved less part?

Each side of a regular polygon is 2.5 cm in length. The perimeter of

polygon is 15 cm. How many sides does the polygon have?
Lesson - 9

RATIONAL NUMBERS

......... is the multiplicative identity for rational numbers.
The numbers ......... and ........ have their own reciprocals.

The reciprocal of -5 is ..........

. 7.
The additive inverse of ra 1S .......

7 4
What should be added to 1 to get 5 ?

-3
What should be subtracted from (Sj to get (-2).

-11-5 9 29
. . -11-5 9 29 . o
Which of the rational numbers 28 7 14 —ap the greatest?
L. . . 3 4
Which is the rational number lies between ra and ra

773 4
5°10°10°10
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10.

I1.

12.

13.

14.

15.

16.

Find x in the following

-1 7« 13_—es
a) 5 _x b) -3 6 ) 6_ X
16 -48
d) — =4 e) —=2
X X

The product of a rational number and its multiplication inverse is

. . -6 .
The equivalent rational number of < is

-3 12 -12
5 70 1o ° hone of these )

Write the simplest form of

-18 24 44 39
D D )0 b o1
Fill in the blanks.

5 .. 25 -15 -3 ... 9 -6
T VR,

9 e 5
9 Zo4716 .. -32
Write the additive inverse of

-3 -9 5 2
AT 97 R
Write the reciprocal of

-6 8 4 18 -3
TR 99" s D%
Find the following.

5 -11 -8 -2 13

)it Doty 97T

7 17 5 (-6 6 (-7
©) 2% 36 Daln)  9uly)

66 9 N3 -2 -3

ETT D R

-1.3 -2.-1 -7.14
m) 8 4 n) 13 726 12 -24

-37-
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©) 56
7
10
-9 22
TR
16 -7
h) %2
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17.

18.

19.
20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

Multiply % by the reciprocal of IT
What number should be added to 5 to get

- 4
What number should be subtracted from ? to get 15~ ?

Represent the following on the number line.

6 13
A rational number - is subtracted from TR Then the result added to

e -11 . .
additive inverse of EVEE what is the reciprocal of the final sum?

-4
The product of two rational numers is < If one of them is —— 35 find

the other.

7 -11
Find additive inverse and reciprocal of [ 26 39 }

. . 2 4
Which is greater —3; or -3~
-7 -5 =3 . .
Arrange 5 ¢z In descending order.

i+ lo1 fng
273 , find x.

-1
Divide the sum of — and —— by the product of — and -

.. 65 8 .-
Divide the sum of T and T by their difference.

) -1
By what number should we multiply - So that the product may be

-23

5 -
By what number should —— be divided to get ——
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10.

Lesson - 4
DATA HANDLING

The mean of first 7 whole numbers is ............
The mean of first 6 nuatural numbers is ............
The median of first 8 prime numbers is ........
What will be the range of the following data.
32,41, 28, 54, 35, 26, 33, 23, 38, 40
The mode of the data 2, 3,2,2,3,4,5,5,6,2,3,8,21s ...........
Find the mode and median of the following data
13,16, 12, 14,19, 12, 14, 13, 14 is ...........
Find the median of 9, 25, 18 15, 6, 16, 8, 22, 21, 17, 18
The weight (in kg) of 16 students of a class are
38,42, 35,37, 45, 50, 32, 43, 43, 40, 36, 38, 43, 38, 47, 44
Find the mode and median of the data.
The enrolment of a school during six consecutive years was as fol-
lows:-
1555, 1670, 1750, 2019, 2540, 2820
Find the mean enrolment during this period.
The result of passing percentage of class X and XII examination for 5

years are given. Represent the data by double bar graph.
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Year | 1994-95 1995-96 | 1996-97 | 1997-98 | 1998-99
X 90 95 90 80 98
XII 95 80 85 90 95
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